A

A 3
HE: Ty B3
CHol D R BHEN (S92l
S BB SR (B) - NEAY - BAS 0f & o Soe DB
== 4,555,017 4,940,437 385,420
= 27,880
Jl 50,000
= 31,451
= 4,445,686
Aoed 28 472,153 305, 107 167,046
= 27,880
p) 50,000
= 31,451
= 362,822
SO HRE #EXE 263,370 205,677 57,693
= 8,500
P 50,000
< 4,600
= 200,270
Hgstdus 5,000 7,600 A2,600
= 3,500
S 750
= 750
307 220l A 5,000 7,600 A2,600
= 3,500
S 750
= 750
02 2UAHAEX 5,000 7,600 22,600
OMEBAT2IY XA 5,000
= 3,500
= 750
[ia 750
SHE MEH T A 5,770 6,920 1,150
= 3,850
a 1,920
201 LEHRHH| 1,920 1,920 0
01 At22tcid| 1,920 0 1,920
OdtdEE =ZHAM 60, 000& *8IH 2= %42 1,920
307 g2Iz2tol A 3,850 5,000 A 1,150




S g
X XH .
(=

chel:

2 }
TolE 2
91 MR BAEY

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
307 glz2told S 3,850
02 plztFaEx 3,850 5,000 A 1,150
CEEPEEINCETLPIE)
3,850,000& =14 3,850
= 3,850
SsZd=AH2a 90,000 90,000 0
| 50,000
= 40,000
207 S OHEH 90,000 90,000 0
Il 50,000
i 40,000
01 A1E4H| 90,000 90,000 0
OLEZLIEL2ACIABA 0 HEIIED
NEdE4 50,000,000& * 14! 50,000
I 50,000
CEEEE RS EINE P BT P
HEEY 40,000,000& * 14! 40,000
SHEEHYEXH 43,900 900 43,000
= 5,000
i 38,900
201 BH2EH] 32,900 900 32,000
01 AtR2&cldl 11,700 700 11,000
OXNASAE M U2HEHZ &X
700,000& » 14! 700
OXZel M2l d=g2s AN=Z2RE=s
200,000 14! 200
OstANERYa NANRY & 2
120& 85,0004 10,200
OBBAHAHNUZ LT A HI
603 *10,00024 600
02 =294l 21,200 200 21,000
OstANEREYS NINLS RERZ
220% x85,0000H 18,700
OFITHASK *ERI 2502 *10,0000H 2,500
203 YPSRF&H| 1,000 0 1,000
03 AIMFAHR =AY 1,000 0 1,000
OSBEHYRFA 20,0003 x5% x103] 1,000




A 23

Hm: Jolsy 23
Sl 9D JHRE BAEY (el &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 YsrBAZ 10,000 0 10,000
= 5,000
2 5,000
12 JIErEAa 10,000 0 10,000
OB ATEQIER OIMEISX 10,000
2 5,000
= 5,000
Fogoz Yo 18,700 4,200 14,500
201 L2yl 4,200 0 4,200
01 AtR2elt] 4,200 0 4,200
ODNEHLZDURSFAILSY
3500002 *122 4,200
01 YurBAZ 4,500 4,200 300
10 BAAHIZAS 4,500 4,200 300
CEEE 2S5 N=IN, 20,0002 *15 * 103! 3,000
OB BIIEHOIL, THES 24
25,0002 ¥10% %63 1,500
307 eI2tolH 10,000 0 10,000
038 AtEISHH2E2 10,000 0 10,000
0D =MEAATL 10,000
S RS D 100,000 15,857 84, 143
401 AlEHIL 20| 100,000 0 100,000
01 A&t 100,000 0 100,000
OBUSTUXIFEHLIC F0IS2 AL
50,000,0002 *13] 50,000
OB4ZLHAANE HEAY J2EALI
i 50,000, 0002 *14] 50,000
OFMSAIZ 22 208,783 99,430 109,353
= 19,380
= 26,851
2 162,552
OFMSASTIHIL A 9,284 95,430 854
= 19,380
= 26,851
2 50,053
01 YuBAZ 56,504 51,062 5,442




A 23

Hm: Nolsy 2H
Sl OFMSA S (St5: &8 2)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
01 YsrBAZ = 16,651
2 39,853
12 JlErEAa 56,504 51,062 5,442
OOMSZR0Is =X2 D2 a 55,504
= 16,651
2 38,853
ORWGIMSAES ZHFS 243
50,0002 x2021 1,000
402 QIR+ OIF 39,780 43,368 73,588
2 9,380
= 10,200
2 10,200
EEEEES 39,780 43,368 3,588
OOFMSSIIGHOILAIL AR AL 39,780
2 19,380
= 10,200
= 10,200
OIMELS BEEE X2 9,400 4,000 5,400
201 Lur2y| 5,400 0 5,400
01 ARzt 5,400 0 5,400
OOMSSEERZ B2 1,500,0008+10H 1,500
OA & EHIS Y| 3,900
Ox gL 42| 100,0002 123! 1,200
ossH 1,80021%1,500 £ 2,700
01 YuBAZ 3,000 3,000 0
10 BAAUZAS 1,000 1,000 0
OLBEE L 2HADL)
5,0002! *402 53| 1,000
12 JlErEAS 2,000 2,000 0
OOMSS UHUHAAD S43
50,0002 2021 1,000
OOMSAZ RAXIRY X
50,0002 2021 1,000
402 QIR+ 0IF 1,000 1,000 0
01 PANEDE 1,000 1,000 0




SN 8
Hm: Nolsy 2H
CHol: OFMSAIZ e (6191 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
OHEE OFMSE 90| 7Y
1,000,0002 13| 1,000
87 +EHLSY 103,099 0 103,099
101 Q124H] 53,099 0 53,009
10 JIZH22NELS 53,099 0 53,099
O0+EF X425 ARy 46,968
oJl2g 30,9002 %202 x222 2% 27,192
OFR4+g 30,9002 x20% *42 +22 4,944
Ofgaesg 46, 35021 %202 +8 2 %22 14,832
O+EX 24252 PEHE U 293 6,131
OlUMHENBEE
46,968,002 *50/ 1,000 2,349
OR0IKZRLZ 46,968,0002 %9/ 100+0.5 2,114
OngRe=g3 46,968,0002 13/1,000 611
OALREELD
46,968,0002 *4.5/100%0.5 1,057
201 gr2g| 30,000 0 30,000
01 At 2teld| 30,000 0 30,000
04+EE 2923 30,000
OX4+258 Z) U &
300K *2 2 %50, 0002 3,000
OOHH B+ & 40} 150, 00024 5074 4 7,500
OSHUXIE ME 1,50004 10, 0002 15,000
OZ=AD SHISB(HA|, 2O H) 2,500
OQUMSE X (ZHSE, 22 2,000
401 ASHILLHY 20,000 0 20,000
01 A& 20,000 0 20,000
CEPIER P 5,000, 0002 *42 4 20,000
Hapel 2,339,214 2,907,312 588,008
HII2 el 1,715,398 2,442,242 A726,844
AANER2Y 517,348 531,016 ~13,668
101 QIAHl 85,683 75,176 10,507
10 JIZHIZNELS 85,683 75,176 10,507
I BIEEER-E ] 84,683




SN YD
B gAane

=R Hol=Sxel

SN HB G (BH) - MRAY - BES Aro CEE Hlm= 2
Oil &k o8
oJ1as 33,5003 x5 260 43,550
ORsSsIt=Y 33,500& x5 x52 8,710
Osga=e:sdg 50,2503 x5 & 63! 15,829
(O)PNEsI=E=) Sl = 33,500 x5H 122 2,010
Ot 28 =
50,753,000& *28.15/1,000 1,429
OZUAzZ=RES 50,753,000 *4.5% 2,284
OLNESEREZ 50,753,000 *1.3% 660
OAHLBEREZ 50,753,000 *2. 385% 1,211
(O)SESRIR IS S =, 3,000,000& *3% 9,000
oMdD|ZeldEelR 12| 1,000
oxgs 80,000& x5 »23| 800
(OF=g=1 3= c] 20,0003 x5 & *23| 200
201 eI 205,840 205,040 800
01 AtR2teltl 5,840 840 5,000
o1l =H| 840
OALE2IFI 22| 5,000
02 ==29gHl 200,000 204,200 A4,200
O==L=aZLHA 86,400
OAl &&= XYl 22,400
©ftak=2:] 91,200
206 M=l 15,925 10,500 5,425
01 MZ 4l 15,925 10,500 5,425
OLZANER2E AZHY 15,925
O=Ldaudsg| 500& +7,000kg 3,500
(OFLE=Fngage] 200& +10,000kg 2,000
O3 HE 2,500& x750kg 1,875
OF 2 50,000& 1508 7,500
Oolzgua=X 3,000 *350 £ 1,050
401 Al &BIZ20HYI 128,500 161,500 A33,000
01 A&l 128,500 161,500 A 33,000
O22) =FAI4 WKl 128,500




SN

X{ ZH -
S =

2E
Haze

=R Hol=Sxel

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Oa20| =2=uH 60,000,000& 14 60,000
OTMSE S WAl 1,500,000& x4 A 6,000
OaZAE =H 5,000,000 *521 25,000
o2 HEy wH 150, 000& 2504 37,500
402 QIEXE01 M 81,400 78,800 2,600
02 CIZ2HCHH AL HI 81,400 78,800 2,600
o2& UHAAY 81,400
Oa22d A2 120,000& 60 7,200
OA22)| HEgEdd #4229 22,400
— ot St AI2 4,000,000& *22] 8,000
—gaFEAsH 600,000& 23| x12& 14,400
O&IIANE otEze] =
450,000 128 5,400
OIeEs =30 300,000& »243] 7,200
O2EXNSEEII| sXlel =
2,600,000& x12& 31,200
OA2AAIL CHOISA SHOE
6,000,000 x13] 6,000
O2SEXSEHIN(MS) EcBMUEE
2,000,000& *13] 2,000
HEAIE 2t 138,650 109,226 29,424
201 LEH23H] 17,350 23,466 N6,116
01 Atf2teld 17,350 23,466 26,116
OUEHE2Y Jl===Z2| 17,000
OUMEHEZRA =&l 7,000& +5H 103 350
206 THZHl 18,100 17,400 700
01 Xz 4l 18,100 17,400 700
OZE+Xcld 28435 78 13,100
ORAtEtE 420% x20,000kg 8,400
OP F=EN 850& *2,000kg 1,700
(@FEINE=FSPI] 7,500& *400kg 3,000
OHASH 25,0003 *200 £ 5,000
401 Al&HIZ =204 90,000 68,360 21,640
01 Al&HI 18,000 5,000 13,000




A 3

HH: HABR

&2l HII=SHel (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
OUHE A& ==&t 18,000,000& 14! 18,000
03 AlZ=20HHI 72,000 63,360 8,640
OHVISHEH OE & =22/l 72,000
ouzy=saiz 48,000
— 24 500,000 8L * 122 48,000
O=EM 2=l ARt 24,000
— 24 500,000 %23 * 122 12,000
—gz 500,0008 x25| « 122 12,000
402 QItRHE0|™ 13,200 0 13,200
02 DI2HCHEARRIHI 13,200 0 13,200
OANESESEHIIS HEAIE AM=2te| CHH
2 13,200
OFSF-Er=P\; 50,0003 *43] 200
OXIBHZ At 200,0002 x4} A *123] 9,600
OEL2ETZA 600,000 x4 2 *13] 2,400
OXIBHobE & 24 A} 500, 0008 x23] 1,000
THEgsEA L 2,000 200,000 198,000
201 UBt2HH) 2,000 0 2,000
01 AFR2r2IH] 2,000 0 2,000
oMegsdd8E2dE Jla=2H| 2,000
HE &= stdae 1,057,400 0 1,057,400
203 YRFEFH 1,000 0 1,000
03 AlBFEXHLEXIY| 1,000 0 1,000
OUEHEF=HIXNA CIFHRFA
20,0008 *53] * 102 1,000
307 2120l A 35,000 0 35,000
01 Az P2Z=H| 35,000 0 35,000
OHJI=Xel #2022 AZHX
350,000 * 100 35,000
401 AlEHIZL R0 321,400 0 321,400
01 A&l 320,000 0 320,000
ONMBEFHIIA =2=JAAH (3H0IS) 120,000
OUL4&d=ZdE 3 OiU=2E =4
200,000,000 » 14! 200,000




A 3

HH: HABR

Sl HIIE X2l CREE))
_ _ _ Muo
SNBSS NRAY - B2 0 & 24 e HlE2
03 AIZ=20HbI 1,400 0 1,400
Ound=Tgit 38 Olu=2d =4 1,400
402 QIEXE01M 700,000 0 700,000
01 BIZAR=2Ex 700,000 0 700,000
O E=EHINA ==Xz 700,000
Ecl=H & JAES 589,216 452,800 136,416
Meolzeg ¥ 2 405,556 322,900 82,656
201 LEHREH| 9,756 6,500 3,256
01 AtR2&cldl 9,756 6,500 3,256
oMgJI2cliiE g2 8H
80&*20,00001 35 4,800
oMgllzg 22 8% 50, 000 *200H 1,000
ONe=s hE=d 8 AEIAH
200& =10, 0000H 2,000
OUEHII= MNES MA 50& *10,0000H 500
OSAMYIIMe IEE2 S¥E
2,800& 5203 1,456
206 = Hl 97,600 69,040 28,560
01 XZHl 97,600 69,040 28,560
O=2cl=Hg 7 30,500
OsSaXI HE+=HED]
50,0003 *250 K 12,500
ONgE3 +=1¢ 200,000& *50% 10,000
OZ=0tH 4,000 +2,000% 8,000
OMdIISE M= 67,100
OMDISHEMSE M= =204 64,360
—5¢ 25% %20, 0000H 500
—10¢ 382 %100, 00004 3,800
—204 632 %140, 0000H 8,820
—30¢ 922 %100, 0000H 9,200
—50¢ 137 %120, 000 0K 16,440
—100 ¢ 256: & +100, 00004 25,600
O33E XdIIS&E HH 2,740
—50¢ 137& *20,0000H 2,740




A 3

HH: HABR

Sl Eelad ¥ AAES (St5: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 YA 55,200 52,360 2,840
12 JIEt24E 55,200 45,960 9,240
OMESE +TH2S
110215, 000kg+7 S 122 46,200
OHHIY +TZA 3021%300,000kg 9,000
307 eI2t0lH 243,000 195,000 48,000
05 LI2ASES 243,000 195,000 48,000
OSAMYIl H |
75,0002 x270E + 122 243,000
HATH RX 22 163,260 104,100 59, 160
201 syl 161,460 100,300 61, 160
2 ZI=HI 161,460 100,300 61,160
OXY AAL4E U 2HE
900,0002!*11CH 9,900
OFATY 246 U FHIRK 18,000
OB ATt 40,000kn0] & 2,200, 0002 6LH 13,200
OB Xt 20,000km0] & 1,200, 00024 *4CH 4,800
OHANY RE 6,800 £ *122 *1,6002 130,560
OYBYUA TM U 24 300,000%  10CH 3,000
206 THEHI 1,800 1,800 0
T 1,800 1,800 0
OFARY &3 10,0002 *307 +3%5 +25] 1,800
MEIIHEl 2ANBS 20,400 25,800 5,400
201 syl 6,400 7,000 A600
01 AtR22lH] 6,400 7,000 2600
OMYIIZSHSII LR L2HT
150,000 %2071 3,000
OMYIIZBYEI2E B2 B4
50,0002 204 1,000
O2HSIIMYI| Hel BIIYX
400,000 *43] 1,600
OFF BYNZL0l 29 N2 L LSS 800
01 YsrBaZ 8,000 9,200 A1,200
10 BAAHIZAS 8,000 7,200 800
OFF BANZLO0 2ZES
20,0002 10 +82 +58 8,000
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23 1t
s$Z2g0e ¥ 2el
2HFEE N 84 9
A BB O(B) - NEAY - BAS sy e RS2
gy & 22| 19,680 26,750 AT,070
B33 Ik &4 19,680 26,750 AT,070
BiEgA NE &5 18,920 23,760 4,840
201 Let3| 11,420 9,460 1,960
01 AtR2teldl 6,620 3,500 3,120
OAMEZMHEI 7L 2,300
O4 4 PE 3,000& 2004 600
O11 Relg 5,000& 1004 500
O500me ZMz2|H 5,000& 4074 200
O104 LFHAIZ I 5 24 20,000 504 1,000
OIS E A AHI 4,320
OUII,=ZHA =2 380,000& 43| 1,520
OXIGte BAl=x=2 380, 000& *53] 1,900
OHJlI=Z EAte==2 150,000& 62l 900
02 2232934l 4,800 5,960 A 1,160
oOHEXHE B2 600,000 1CH 600
OVNF=FE=INI: ] 4,200
OXt&EL &l =2l 150,000& *10& 1,500
ORrsU 1,800& *1,500 £ 2,700
203 YLEAY| 1,000 1,000 0
03 AIHEFAHRFLY| 1,000 1,000 0
oszgad Yo &
20,0003 x 10 53] 1,000
206 M=l 3,900 3,300 600
01 &l 3,900 3,300 600
OH={H & ARE 7Y 3,900
QOHl ==& ALKl 100,000& *3& 300
oolu= 150, 0003 »58¢ A 750
Oezx38 250,000& 65+ A 1,500
OExXE 150, 0003 x58¢ A 750
O0241 A 150, 000& 24 300
OPHMIAD| E&EH Wi 300,000& *13] 300
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SA
X XH .
(=

chel:

B R(B) - MEAY - BES sk e 2
301 YEtEa= 2,600 2,600
HAIAHIEAS 600 600
ORI ST HIIBAD
20,0003 x5 +62 600
12 JIEt2 43 2,000 2,000
OstdgA Ba= 100,000& 203l 2,000
BHE0tA B 760 370
201 ZEH23H] 760 370
At 22l | 320 320
O3:dz=k 22 =9 80,000& *42] 320
=324 440 50
OEFEINI EEZAMN =& 440
OO dICI 23t et 100,000& 14! 100
OCo/CHEE DI 100, 000& 1Al 100
(OES =P~ 120,000& 14! 120
(OFNE=2=F<) 120,000& 14! 120
2 =2kl 1,309,970 56,702
oyl (2Z 1) 1,222,052 49,304
Hl 1,217,852 49,304
01 oyl 1,217,852 49,304
LINAHAZZ2 R E = 1,217,852 49,304
os&0lstd 2 1,217,852
J2a(122 1,154, 7403 «32H <128 443,421
95,040
25,000 x32H +3.5H 128 33,600
90,000& 32 x 12 34,560
70,000 32+ 123 26,880
223,671
160,000 & «32E « 122 61,440
110,000 *32H x 122 42,240
140,000& +32E « 122 53,760
1,724, 7403 x60%+*32H 23] 66,231
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sy ==
M #M2AAL|
CHel: ol 2oyl (23D (erelHE)
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
oan= 292,518
—J|eat 1,724, 740 x50%*32H *4 3] 110,384
—HZ2Lg 1,724, 74021 40%* 322 +23| 44,154
— Mot 1,724, 7402 50%+322 +53 137,980
Oxl282Y S 136,851
—EQIUAAA2R 4G
92,5802 *10H %52 48,142
—F522244H 92,5802 x4 % x522 19,257
PN =a= = = 92,5802 x32H 20 59,252
— 204 H] 17,0002 x2H 252 x 128 10,200
OXASHHI B ==& 14,795
— =St 23X 50,3102 32«0 14*43)] 902
—DSstn 12X ()
420,790 x32% %0, 15%4 3] 8,080
—NEsD 22X (L)
302,720 %322 0. 15%43] 5,813
O1l=| 11,556
-z = 80,0008 x27H 23| 4,320
— 9| A5} 30,0002 x27H *23 1,620
—QtM B} 50,0008 x27 % 23| 2,700
— & 4502 27 H 2402 &l 2,916
AR =R 4,200 4,200 0
203 U= 4,200 4,200 0
04 BA2IH2FIH 4,200 4,200 0
ORNSIEARZXH| 350,0002 122 4,200
Jl2zd(stA ) 87,918 80,520 7,398
Aot AY| 25,998 18,600 7,398
201 LE2YH| 25,998 18,600 7,398
01 AtR22IH] 21,758 15,200 6,558
ORAN2YII=242H| 8,840
OZ2IE 42| 50,000 123 *3CH 1,800
OBASKIHI 100,000 * 123 1,200
OZRIHI EHRY 120,000 *3CH *63] 2,160
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SN #HI
Ha: @Y AR
crel: D2 FHI(2H 1) (el @)
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i SImE=ET
OoZctZelHIl EH+Y 320,000 344 %23 1,920
O=AEX FY 20,0003 108 A x53] 1,000
O=El 4,838
02 2324l 4,240 3,400 840
02223 2 MA 400
oA =] 1,600 %10 £ » 120 2CH 3,840
04l 61,920 61,920 0
202 OdHl 61,920 61,920 0
01 LA bI 61,920 61,920 0
OJI=2gR==&0iH| 150,000 & +24H « 122 43,200
O=U=Z0HI 18,720
Heas 414,000 428,000 A 14,000
BEXE(2Z ) 414,000 428,000 A 14,000
HIOISOHEE Z&AY Ol Xt 14,000 28,000 A 14,000
311 X =0l Xtate 14,000 28,000 A 14,000
02 Al-Z - FAGNLIISXHLS0IAHat 14,000 28,000 A 14,000
OHIISWE FLAL 0IX48
400,000,000 *3.5% 14,000
HIOISMHEZE ZLAE A34E 400,000 400,000 0
601 XM= =ate 400,000 400,000 0
02 Al-Z - FXSHLIISHLUSESaS 400,000 400,000 0
OHVISMHE Y &AM F=a&
400,000,000& %12 400,000

_15_




